“§') HOKKAIDO UNIVERSITY
Y X7
Title 00 000b00b0ooboobuoDbo
Author(s) 00,00
Issue Date 2005-11-30T05:17:27Z
Doc URL http://hdl.handle.net/2115/828
Rights(URL) http://creativecommons.org/licenses/by-nc-sa/2.1/jp/
Type learningobject
Note ggooboooboooobobooboobbooboobboobuoobbooboo
Note(URL) http://www005.upp.so-net.ne.jp/j_inoue/index.html; http://chaosweb.complex.eng.hokudai.ac.jp/"j_inoue/
Additional Information | There are other files related to this item in HUSCAP. Check the above URL
File Information konton2005_4.pdf (040000 0O0O)

®

Instructions for use

Hokkaido University Collection of Scholarly and Academic Papers : HUSCAP


https://eprints.lib.hokudai.ac.jp/dspace/about.en.jsp

DO00o00ono ooog #4

OO0 :00 00 (0000oooo 813)

URL : http://chaosweb.complex.eng.hokudai.ac.jp/”j _inoue/
Mirror : http://www005.upp.so-net.ne.jp/j _inoue/

00170110 140

0 O
3 0O0odUoooooooooo 38
3.1 0000000 : 000000 . . . e e e e e e e e e e e e 39
3.2 000000000 00000000000000 ... .. 39
3.3 OD0O0O0O0 ... e s 41
34 0000000000 . . e e e e e e e e e e e e e e e e 44
35 0000000000000 .« . . 0 vt e e e e e e e e e e e e e e e e e 44
3.5.1 O0OO0O0O0 . .. e e e e e e e e e e e e e 44
3.5.2 20000000000000000000O00O0 ... ... ... ... ..., 45
3.6 D00O00OD00O00O0O00 .« . . 0 v e e e e e e e e e e e e e e e e 47
361 00ODOO0DOODOODOOOCO0O000 .. ... 47
3.6.2 00000O0000O00O00O00000O .. ...ttt 49
3.6.3 Sourlas OO . . . . . . . 0 e 50
3.6.4 0000000 ... .o e e e e s e 50
3.6.5 SowrlasO0 DO OO0O000000DO0O0O ... ... . e e s 51

3 Juooboboogoooob

gboogobo,oboobooobgooobobooboobooboobobo.booboobooboobon,d
oooooooobobooooo,booboobooboobooooobooboboboobooogoD. oD, 20
gobooboooooooboobooooboooooboooboooboog,ooboobooooobooooo
gbooooobooooboobooooboooooboobooog.

gobo,0o0o00booooooobooobboobobooobooo.0boobo 2000000D00DOOO
uogbooooboobboooboob,obboobbooboboooboboobD. bbboooboao
0000000000000,0N00000D000D0000 200000000 {¢}1000000,
0000000000000 0000000000O0U0ooo0O0{s}0,0000000000ODOOO
000000000D0000000000000000, PHe})=2"YO00O0O0ODO0OO.000,00
gbooboobooboooboobooobo,obooboboobooboobooobooboo. boo,
gbboooOooboooooboobooobobooooboooooboon.

38



oboo oooooOgn 2005 00/00/CDMAOOOCOOOO #2(00 :00 00)

gboooog,ob0obobooooobobooooobo,0coboboooobooboooo,0oo00n
goboooo,obbooobobooobboobbooobboobbo0. oobooobboooboboo
(encode) OOOOO. 00,000000000000000000O00 (decode)JOO. 00000
000000000000000000000.! 000000000000000000000000
gbooobooobooboobobooobboobooobg.

goboobo,boobooooboobbooboooboo. booboboooboobboo 3.6 U
oboboobooooooobooooobon.

3.1 0OUOdoodoo - gbbobod

gbooboobooobobooooobooooboooooooboooOobOooboobooboooon
goo.

3.2 DUUooodobbouoooobbouooobobod

ooboobogpd2000000000,00000000,1000000. 00000000000
00n0 (nO0O0)0D0O00OO0O0OOOOOOO. OOODU0OOOOOODOOOOOOO,nO00000O
0000 0,1000,00000000000 (000,000000).0000,0000000000
ooooooooonD,0dbn=5000

fPp) = 5C3p°(1—p)? +5Cap*(1—p) +p° (117)
000,00000n7=7,9,11,---00000000 »0000000

&) > 1) > £ p) > f8 > - (118)

000000000000000000.
000 " ooo000o0«000000,p000000000000000000000000. O
00,0000 f£"0p00000000000000

(p) = 3p°(1—p)+p°
(p) = 10p°(1—p)* +5p*(1—p)+p°
Dp) = 35p*(1—p)® +21p°(1 — p)* + 7p°(1 — p) +p’
(p) = 126p°(1 —p)* +84p°(1 — p)® +36p" (1 — p)* + 9p°*(1 — p) + p°
(p) = 469p°(1 —p)® +330p"(1 — p)* 4+ 165p5(1 — p)> + 55p°(1 — p) + 11p*°(1 — p) + p'*

obooooo,0b0oboobo0obo.0bob 220000.

(0o):
000,000000,n—0c00000000 f£™(p 0 p0000000000000O00O,000
ooo. @) o0n=2m-1,m=1,2,---0000000000

2m—1

) = Y amaCrpt( —p)BmmH

l=m

l0pDo000D000000000000000000000000,0000000000000,000000000000
ooooooooooooOooooooobooooOooooooon.

ugbo 390000



oboo oooooOgn 2005 00/00/CDMAOOOCOOOO #2(00 :00 00)

0.5 T T T T T T T T T

045 W
04 r 4/ 4
0.35 ./ 7
03[ s hl
0.25 . a

02r 7 b

01r g2 7

0.05 PRSP 4

0 22: 0000 f™(p). 000 n=3,5,7,9,00,n=11.

2m—1

= Z om—1C1 p'(1 — (2m - ZZm 1CpH(1 p)(Qm_l)_l

= (p_|_1_ 2m 1 sz 1Clp 1— )mel)fl

1- Z om—1Cy p!(1 —p)m=1-!

oooo.
000,000 p=1/20 (119000000000

1 2m—1m—1
fmage) = 1- (§> > amaCl
1=0

0O000,20000000 92p-1Cr =929m-1Co,—1 0000000,000, m=300000

5
2501 = 5C0+5C1 +5C2 + 503+ 5Cs +5C5 = 2(5Cy + 5C1 +5C2)
1=0

gbooobo,oboooboobgooobgd

m—1 2m 1

om—1C1 = ¢ Z om—1C1 = (1+1)2m 1 — g2m=2
=0

00000000000.000,00000 (12000000000,p=1/2000

1 2m—1m—1 1 om—1
o = 1-(3) 0 Tee-1-(3) xerois
=0

gooono.

N | =
N —

(119)

(120)

(121)

ugbo 400000



oboo oooooOgn 2005 00/00/CDMAOOOCOOOO #2(00 :00 00)

0O0,p#1/20000000000000,00000000000000,000 :(121)0000O0
O0000.000,(11900000000000000,p0000000000D000OCOO0O.

pl(l _p)Qm—l—l _ (1 _p)lp2m—1—l

000,p=1-p000000000,p=1/200000

,_\

1 2m—1
— 1Cl p 1_ )Zm—l—l _ 5 Z 2m—1cl pl(l_p)Zm—l—l
=0

m—

=0

000002.000,p#£1/2000000000000000000000.

0o0,00000 f"(p)000000000000000,00000000000m—o00o0000
00000,2m—-1=M,m-1=MO0OO M -0c0000000000000,000000000
0.000 (1190000

m—1

n}iinmfén)(p7é 1/2) = 1- lim Z am_1Cy pH(1 — p)?m—tt

m— 00

=0

1— lim ZMClpl(l—p)M_lzl— lim (p+1-pM=1-1=0
0

M—o0 M—o0
ooooo.ooo,00
() _ (1) (0<p<1/2)
3 (p=1/2)

gbbodnrn—ocUbOOoonboobobobooboboonobOOon.

0000000,000p00<p<1l/200000000,000000000000000000C00O
Oo,0bo00b00boooooboon.

3.3 Uuogn

ugboo,obogboooboboooobobooo,bobobobooboobooboboooooba
gbog.oooboboboboooobobobooboobobobooooobob,0bobobob
bobobobobooo,0o0boob0oooboooooooooooobobobobobobobo
goooobooa.

ooooo .cooooooooooooo.
C = max I(X;Y) (122)
Px

0000000 I(X;Y)=H(Y)-H(Y|X)00000O00O0000000,0000000 X0000
00,00 YOOOOOOOOOO0O0000000000000000000. 00,0000 maxp,(---)
0,00 X00O0OOOO0OO0O000 (00 X00000)000000000000000000000
0.000,000000000000000000000000000000000

gboooboobooobooboobooobboobooobog.

2000000,0000 @ pt(l—p)2m1-l=01—-p)lp?- 110000 pd00 p=1/200000000,0000 f
O0D000000000000 p=1/2,p#1/200000000000000.

ugbo 410000



oboo oooooOgn 2005 00/00/CDMAOOOCOOOO #2(00 :00 00)

[D1:|ZIIZIIZ||Z||ZI2DDDDDDDDDDDDDDDD. J

(@oo)
000000000000 Px(0)=p,Px(1)=1-Px(0)=1-p00000000.0000,000
00000000000000000 :

Pyix(0[0) = Pyix(11) =1 (123)
Prix(O]) = Pypx(1]0) =0 (124)
oooooboboooooooboo,bo00ooooo
B0) = 3 Prx(0ie)Px(a) = Prix(O0)Px(0) + Prix(O[)Px(1) =» (125)
mm:=S;Hmemm:ammmw»wme&m=rw (126)

0000o0000oo0.000,0000000000 I(X;Y) O

I(X;Y) = H(Y)-H(Y|X)
= —plogp— (1 —p)log(1l —p)
+ Prix(000)Px (0)log Pyix (010) + Pyix (11)Px (1) log Py x (1[1) = h(p)  (127)

O00.000,A(p) 000000 2000000000000,

h(p) = —plogp— (1 —p)log(l—p) (128)

000000. 000,000000000 I(X;Y)0O p00O00O000000OO,00200000
000000000 0O0o00o0UD. 00000000 A(pOp=1/20000100000,0000
oooo co

Cc = mgx[(X;Y):h(l/Z):l (129)

goo.

s N

20000000000,00000 Xe{0,1},00000Y€{0,1}00000000. 00
oooooooogon.

()00 X0000,00001000000000000000000 H(Y|X =1),H(Y|X =0)
000,000000000000000000 H(Y|X)0OO X000 P(X)00000
oooooo.

\\?HUDDDDDDDQDDDDDDDDDDDDDDDD. //

@)

()00 XO0OOOOUOoOO X=2000000000YUOODOOUOOoOoOoooooooo

H(Y|X =z) = =) Pyrix(ylz)log Py x(ylr) (130)

ugbo 420000



oboo oooooOgn 2005 00/00/CDMAOOOCOOOO #2(00 :00 00)

0000o00.00000,0000000000 HY|X)OooOoooooooooooo
HY|X) = —ZZPY\X(Q|$)Px log Py |x (y|z) = —ZZPXY(%ZJ) log Py x (y|z) (131)
x Yy x Yy

00000000 ooUoUOOOo. ooo, (130) 00000 ¢z =0,10000000000000
H(Y|0)O

H(Y|0) = =) Pyix(y[0)log Py x(y[0)
=1 —Pyx(0]0)log Py x(0]0) — Py x(1]0) log Py|x(1]0)

= —(1—=p)log(l —p)—plogp = h(p) (132)

000, HY[1)oooo

H(Y[1) = =) Pyx(yl1)log Py x(y/1)

= —Py|x(0[1)log Py|x(0[1) — Py x(1[1) log Py |x (1]1)
= —(1—p)log(l —p)—plogp = h(p) (133)

000.000 h(p) = —plogp— (1 —p)log(l —p) 000000 2000000000000. 00
O0,HY|X=2)0:0000000200000000000000000000000. 000
000,0000000000 H(Y|X),0000, (131)00

H(Y|X) = =Y H(Y|X =x)Px(z)=h(p) > _ Px(z)=h(p) (134)

000,0000 Px(z) 00000000,
(2)(1)00000000000

10GY) = HY)-hp) (135)
Oo0o0oD,002000000000000 CO
C = maxH(Y)— h(p) (136)
Px

000000. 000000000000 HY)0OUOOOO Px(z)OOODOOOOOOOODO. OO
0000000 o0 100000000000, Px(0)=¢,Px(1)=1-¢0000000000

Py (0)
Py (1)

(1—-2p)g+p (137)
1-p+(2p—1)g (138)

gbooobo.oob,0b00b00bodg qgubboaoboo

H(Y) = —[(1-2p)q+p]log[(1—2p)g+p|
— [1—=p+(2p—1)g]log[l —p+ (2p — 1)q] (139)

000000000000, 000,000000000000D00O00DO g=1/2000,000
HY)=100000O0OO0OO0OO0OO0O,00,000000000

C = 1-h(p) (140)

ugbo 430000



oboo oooooOgn 2005 00/00/CDMAOOOCOOOO #2(00 :00 00)

goo.

00,00000000000,00000000a,000«200000000000000
1 a?
c = =1 14+ 2 141
jioes (1422 (14)

gooooao.

3.4 0OUOUOOodoOooOoOOd

00ooo,{0,1}0000000000,00000000000000000O00,00000000n
000000000000000000000000000. 000,00000000 (DOoDOOOOoO
) RO

R = - (142)

000000 (000 000 /oo0oU0o0d].n00D00000D00O0O000OO0), 0000000 nO
boooooobobobooooooobob. obooooboboboboooboobooboOoobooDbn
ooooooooo,00boo00o0oboOo0. 000, 000oOboo00o0obDoOo00O0DbO,0D000 ROO
oooooo,0000 ROODODOCODOOOOO0OCOOOOOOOO,000,R<CODOOO,O00O0O
gbooooobooooooboooooboooo.

3.5 OUooodooboooon

{0,1}0000000000,000000000000000000,00000000R,00000
00o0oo000oO0o0oU0ooO0oUoO0o0,0o0o,000000000000000 (CooUooO0)R:

R = = (143)

ubobnnO0bOO0OO0OO0DOODOODOOODODODOODOOOOOOOOOOOO. ODbO,0000D00D000
ooooooo,0000 ROOOOOOODO,0000 ROODODOOO CODOOOOOOO,O0DO,
R<COOODO,000000D0O0COO0OO0O0O00O00OO0O0O0OODDO,0000DODODOODOOOOOO
goo.

gbooobooon

() R<CUOOO0OOUOOOO0O ROOO,000D00OO0U0ODODOOpPgOOOOODOOO.
(i) R>CO00 ROOO,00000000O00O0 P O0OO00OODOOODODO.

gbooobOoooooobobooboobooooobooog.

3.5.1 0O0OO0O0OO

gobooboobobooo,0obobooboobooobooboobooooooboo. 0obooobooon
ocoooooooo,boo0g00o0 S81,8,---, Sy 000000 n000, 10000000000 O0OO
gbobooboooboobooboboboob.boboobao

ugbo 40000



oboo oooooOgn 2005 00/00/CDMAOOOCOOOO #2(00 :00 00)

gboooo (bobooboooo
S1 100 ---000
Sa 101---010
Ss 010---110
S 011---010
Sm 111---010

00000000003, 000,2"00000000000000000000 2°"00000,000
00o000000000000,000 200000000 .6,5;,000000000000000 2-2n
gooobO,b00booocoboobooboboboooboooon.

0d, 5,s, -, Sy 0000000000000 oogdo. ogo,n000000000DOOO0OO

000o0ooO0o0oOoo 2000000, 0oooo
log M

R = = (144)

000000,0000000MOM=2"2R000,000000000000,0000
M = 2"B<om (145)

O00,R<100000000D0O0O00DOOOO.

3.5.2 2000000000000000000O0000

obooobobooooobooooboooboon.

00,000 ()000000. 200000000000000 p00000000, 000000
S51,5,---, Sy 0000000000000 00O0,10000n000000 200000000000
00000000000000000 np00000000O0D0D00OODO4. 000,000,50000
oooo,0000000 00000 7np00000000000000O0O0O0ODODO,00 000
U,npO0000000O0O00O0O00DOO00DO000wODOOO0ODOOOOOO,000000000000
O.000,02000000000000000D0O000. 000DO,00 S;00000npOo0O0O

booooooo,1000000 10000000 p00000
p = p'P(1—p)nti-p) = gnelogptn(l-p)log(l-p) _ 9—nh(p) (146)

00000000000.000,Ap 000000000000 2000000000000, 00O,
obbooooboo0wdOdOooOooooooo

w = pt=2"0) (147)

goo.

300000,10n0000,0000000000 M=200000 000---000,0000 111---111 000000000
oo0,00000o0o0o0000dooooobooboo0oooooooon.

40000,000000000000 np000000000000000,0000 np+e000,00 000000
oooooooooooo,0o0o0o00o0oooooo. oob0,000000000000,000000000000000
OnpOOO000O0O0OOOCOOOOOODOOODOOOO.OOCOOO02P0O0O0O0OODOODOOOOOOODO npOODOO
00000 (Do00o00)000000000. 00000000 2000000000000000000D0O0O0OO0O0ODO
onh(P) OOO0OO0O0O0O,0000000 2"00000000000000.

ubo 450000



oboo oooooOgn 2005 00/00/CDMAOOOCOOOO #2(00 :00 00)

0 23: 0000 S,---Sy00000 §02000000000000000,00000,00000 w=2*®goooo.

oo0,0000000o00000D0000000000 5,000 8,,---,S»y000 M-100000
0000000000000, 000,0230w=2"0P 0000000 M-10000000000
oboooooboooooboDb, 00000 pe0 MOOOODOODOOD

Doooooooooo.
0DO0O0,M=2"R000000000000. 00,200000000000000000000,
C=1-h(p) 000000,0000000 pg0O
pp = B0 (149)
00000000000.000-,000000000

R < C (150)

0000 py,—0000000000000.000 )OO0OCOOO.

00000 (i) 00000000000000,M00000008;,---,S» 00000000 w = 2P
000000000000000,,00000000000000002"000000,M0000
0000000000000000000000000000000,000000000000000
00000 >=2"/MO000,000000000000000000000000000000000
w=2"P) 000000000000000000 (0240)2z>w, 0000

0 24: 00000000 0000000000 »=2"/MO0000000000000000.
p= > 2" =y 151
i (151)

ugbo 460000



oboo oooooOgn 2005 00/00/CDMAOOOCOOOO #2(00 :00 00)

ooo
MC=R) 5 (152)

gooooooooo,0b0o0 R>COO0OO0O0DOODOD.OO0O0,R>CO0O0,pgr—0000000CO
00o0oo0o0oo0. 000,000 ())oOooooo.

3.6 UDUuoodoboboooon

oooooooodd,n—oo00 ROOODODOOOOO,000 : R<COOOOOOoOO,O00
Udbdpg—-0000000000O00O0DOO0O0OOCOOOOO,000000000000000O00O0
gboooboboooobo,b0boboocoooboooobo.obo0o,0b0o0c0oboo0oboobo0oboooobo
O00/0000000000oooo.

3.6.1 ODOO0OO0OOOODOOOOOOOOOOOO

000000000,000000000000000000000000000000000000
000.000,0000000,000000000,0000000000000000000000
0000000000000, 000,00000000000000,000000000000,00
00000000 {¢ =(&4,6,---,&y) 0000000000 :

Jij = & (153)

oooooOoooooooo. g, (@=1,---,N)0 £100000,000 (153)00000000000
O00000000.00000000000D0000000 4N/2=2N00000,00000000
ooboo NOOODOODOOOooOOo.0oboooooooboobooooobooobooobooboboobo
gbooobooooooobooooboooon.

0000((153)0000 200000000000000000O0,0000000000DOOOOO

eﬁJ Z” Jijoioy

P{J}{o}) = eosh(3, )5 (154)

0000.000,Np00D000 J,;000000,8,0J,;0000000000000000000
000000.0000,000000000,P¢{r}{s})000000000000000000000
ooo,

eﬁJ Z“ oi0;+h 21 TiO;

PAT AT} = [2 cosh(B)]VE[2 cosh(h)]V (155)
Jooooooob.bobo,00000b0bbbo0ooooooo
e Hett
P{o}{r}.{J = = 156
({or{7}. {/}) Sy o T (156)

Heff

—Bs Y Jijoio; =Ty oioc;—h> T (157)
ij i

ij
0000o0.000,0000000 (b7)OOODUOOOOODODOOODUOODDOOODOODOOOOOoO,o00

ooooooooooo0oo,000 MAPOOODODO,0000D0OO00O0DOOOODDOO,0000RO
oboooMPMOODOOOOOO.O20100x100000000000000000000000DO

ugbo 4roogn



oboo oooooOgn 2005

00/00/CDMAOOOOODO #2(00 :00 00)

0.14 T T T
0.13 - ]
+
0.12 -
. ++ tyo ot
011 £ 4oq dt, +F o i
B e,
’%*% i ++% +
0-1:?++$¢+¢+++*¢ ¥ o+
2 e ThalEr T 1
o 4 +++ +i+ ¢+++++ N
- * + t++
e
+ % ¢+1%i SR P
0.08 + 4 ++%j+iﬁ¢iu R AbE IR
+ TR T the g .3
n
gt fﬁiiﬁ T+ $ #*E
0.07 4 $+++++¢+$+ fi i £+ T
++ +
b oE ﬂ ++
0.06 | L
+ +
+
005 | | |
0 1 2 3 4 5
beta_J

0 25: 00000000000000000000000000 (MCMCOOOO MPMOO)0O 8;000.8;,=00000
000D00000000000 (000 @ T =J"1=Ts =215k = (1/2)log[(1 —p)/p]). 100x 1000000000 1000

gooooooooobooooo.

0000000,000000000000005p»=020000000000000000 (156)000
ocooooooooooooooooo MvPMOOODOOOOODODOODOD g;0000000D00O00OO
0.000000000,00000000000000 (B;#0)0000000000O0O00OODOOO
obooooooo. 0200 200000000000000000000000. OD0bOOOO00OO0

0 26: 000000,20%00000,68,=000 MPMOOOO,8;=4000 MPMOOOO. 000000000000

gooooooooooooooooooobooOoooooon.

0,0000000000 (By=0)0000,000000000000 (B;y=40000000000

gboooboooboooboobobboobooon.

ubo 480000



oboo oooooOgn 2005 00/00/CDMAOOOCOOOO #2(00 :00 00)

3.6.2 0OO00OO0OO0ODOOOOOOOOOOOO

oo0,00000000000 20000000000 00000D0O0OOC0ODOODOODOO. DO
0,00000000000 (15710 —JzijaiJjDDDDDDDDDDDDD.DD,IZIIZIIZII:ID,EIEI
oo,000000o0oooo.0oo,ooo0o00000000,p6;,=1000

Heff == _ZJijUiJj (158)
j

ooo0oo0ooooo0. 000, J;00000000000000B0Q0O0,00000 J;=6400000
gbooooo,0bo0o0oobo

Heff = —Zfifjaiaj (159)
ij

goo.oobo,ooboob:0000 ai—>£ioi|:||:||:||:||:||:||:|,DDDDDDDDDDHeg:—zijamj
000,00000000000000000000000O0. 0000000000000 (Mattis) O
o0o0oo0.000obb o, 00000D0DO0O0000000000000ODODODO OoO0O00oooo
ub, 0000000000000 0000o00obo0oboboboooboobooooboboboooon
0000000000.000,00000000000000,0000000 (158)00000000
goooobooa.

0 27: 00000000000000 (0)000000000000000 (D). xO000D0D0OD00D0D00000000000
ooo.

00,00000000000,J,;0000000,00000000000,00000000.0 27
0000000000000.00000000 J;=+10000000000000,0000000
00000,0000000000 J,00:J],,,J;00000000,00,¢&000000000
00,00000000000000.00,00000000000,000000000000000
000,x00000000000000:]],,,J;00000.000:]],,. ;000000000
000000000000,00000000000000000000000000000000000
(00000)000000000000. 00000,0000000000000000000000
00000000000000000000000000.

OooOoOo0O0O0O00000 —SowlasOO —O0OO0OOOOOODODDODDDODODOO.

ugbo 490000



oboo oooooOgn 2005 00/00/CDMAOOOCOOOO #2(00 :00 00)

3.6.3 Sourlas 00

0000000000,000000000000(000)0 J;=¢§¢; 0000, NOODOOOODO
000000 p0 : Jiy.y, =&,---&, 00000000000000000%. 000,0000000
00 RO

N p!
R = Ncp ~ —prl (160)

000 (N —o0,p=0(1)).0000,00000 J;,..,000000000000000

PUTIED = (N“)mexp My (J—]j—p'ff) (161)

2 T2
J2mp! J?p! e,

0000.000,0000000000 000 20

J()p! 2 J2p!
40 = 357> O = 5a (162)

gooooO,0o0b0o0ocoboboooon

1 a? J2p!
c = =1 1+9) 0 163
g 082 ( * a2> J2Nr—llog2 (163)

goooo,rROcCOOOOOO

R I\ 1
Lo [J 164
C (J) log 2 (164)
0o00.000,(J/J)00000000000000000000. 00000 (164) 000 Sourlas O
000000000000 0000000000000000000000
000000000000,000000000000000000000 PHe})=2"Y00000O
00000,00000
exp(Bs Y o i JireiyTiy 04
P{o}l{J}) = i A (165)
E{a} exp(ﬂJ Ei1<~~~<1p Ji1'--ip0i1 .. 'Uip)
00000000 ({¢}0000000000000).
0D00,000000000000 ¢

Heff = —ﬂJ Z Ji1~"ipai1 c 0y, (166)

i1 <o <ldp

o0od, MAPOOOOO MPMOOOODODOOOODDOOODODOOOO. DOO0DOOOODoOOoOOO
Sourlas 00O 0O0O.

3.64 0OO0OOO0OOO

oo0o0O00O000O0OoOoooooooOooOOO,0000000000000000. 04 SourlasO
uboobooooobooobo.boo,oobobooobob.boboobobbobooboboo
goog.

5000000000000000000000000, 0000000 NOODDODOODOODODODOOOOOOOO0OO0O00O00
ooooo,00000000000000O000C0OC0O00000O0O0O0O0A0.

gboos00000



oboo oooooOgn 2005 00/00/CDMAOOOCOOOO #2(00 :00 00)

goo,0000b0p=200000000,00000000

Hypg = —5J2Jij0i0j (167)
ij

goo.ob00o,0b00b000o00b00bo0,b0obooooob0oboobobooboobo:0000000
goooooobo.obob,boo

hi = Y Jijoj (168)
j
ooo,000 mpoooo,od mZ(l/N)ZiUiD

s ezih“”
_ 2o l(1/N) X, 04} (169)

E{O’} eZi s

O0o00o0o0oooo0oooUoooooon,0oooo00 PHJH{EHPHEH DD ODDOODDOOOOOO
ooooooooo0. ooo,{e}000000O0DO (1) OO0 O0OOOOODOODOO. ODOO,O
gbooooooooooboooooboan

ST dhe oy (/N X2, 03} T 8(hy — X2, Tij0y)

- — i (170)
ffooHidhiZ{a}e i le(S(hl_Z]JUO—J)
ooobooooooo. booooooooooooooooog
1 % o~ hh— o
(i =S des) = g [ de R ()
j —00

oooooooooO,0o000000000 J,;0000000000,000000000000000O
gboobooo.obbobbooboobooboobooobooboobbobbooboobooboobon
goO,0000000000b00000,000000000000000DOO0O0O0ODOODAO.

3.6.5 SourlasO0000O0OO0OO0DODOOOO

SourlasOO00O0O0O0OOOOOOOOOOOODOOOODODOOODOOOOOOO.

m = [o)] = / ” Datanh(G) (172)

q = [<ai>2]:/jo Dz tanh(G) (173)

000, Dz =dee " /2/y27x000 2, GO

2 72 ,p—1
G = x\/pﬂ‘]%—i—ﬁJJopmp*l (174)

ubob0dqhobooobooboboboobobooboobo. obooboooooboobooboon
ooocooobooog.

00oo00ooo0oUoo0o0, 00000 MO000000000O000. OO0 (0O0O0) (e 00O
00o0000o0o0oo0o0o0ooo0o0ooo0o0on,0000000000,000,(0y) =00

gbooobooon.

gugbos10000



oboo oooooOgn 2005 00/00/CDMAOOOCOOOO #2(00 :00 00)

00.000,000000000000 [-)00000000O0O0O0O0ODO.00,000000000
0000000,{(e;) 00000000000000000O0O000O000 ({ey)£0),00000000
00o0ooo0o,000000000000000D0DO0O000D0O (o] D0O0DO0OO0ODOOOO.
goo,00mb0000000000DOO0OOOCODOODOOOOODOO0.

00,()?000000000000000000.000,0000000000¢000000.0
000000000000D0000000000000000,0000000000000, (6;)200
gboooooo,0ob0,00b0o0oboooboobobobooooboo. obo,0o0cob0ob0oboOooooon
00 (o)) 000000000.000,000000¢=00000,000000000¢#0000
oooo.

0000,0000¢0000000000000O00O000O0O0O0O0OO (D00,00000000)00
0000000000000 00000000000O00U0DO (Coooooo0O0 m,gOOOOODO).

00,0000000MPMOOOOOOOO0O0O
P, =

(1 - [ o; Dz sgn(a)> (175)

EIEII:II:II:II:I.|:|28|:|p=2|:||:||:||:||:||:||:|.DDDDD,TzﬂEIDDDDDDDDDDDD 2000

N~

(1 — [&isen({03))]) =

N~

0.9 05

" p=2 J013=0.8 —— " p=2 J013=0.8 —— "p=2 3011=0.8 ——

0.8 [ B 08 [ 0.45

0.7 — 0.7 04
0.6 [ B 06 [ 0.35

05 — 05 03 F

Pb

03 — 03 F 0.2

0.2 - B 02 [ 0.15

0.1 [ — 0.1 0.1 [

0.05

0 28: p=2000000.000000000 Jo/J=08000000.

ooooog, R,=05000000000000000. 00000000000 O00DO0,p=300

p=3101J=0.8 —— p=310/0=0.8 —— T p=3Jon=08 ——

09 [
0.8
0.7

06 [

Pb
o
N
@

0.4

03 F

02

0.1

L L
12 14 16 0.2

0 29: p=3000000.000000000 Jo/J=08000000.

gbo s200000



oboo oooooOgn 2005 00/00/CDMAOOOCOOOO #2(00 :00 00)

0oo0,pP=0500000000100000000 (0D 2900). 00,00 pO000OD0O,0000O0

0.8

0.506

p=3013=0.6 —— p=30/0=0.6 —— " p=3J01=06 ——
07}
0.504 [

0.502
05 -

03 [
0.498 [

0.496
0.1

1 L L L L L L 0 L L L L L L 0.494
0.2 0.4 0.6 0.8 1 12 14 16 0.2 0.4 0.6 0.8 1 1.2 14 1.6 0.2

0 30: p=3000000.000000000 Jo/J=0.6000000.

ooooooooo,,0TO0O0OOOOOODOS000 (0D 3000). 000,0300000000,
m=00000000000¢#000000000Q00QCQOQOQOOOO.000,0D0D0000,TOO
00o000,00000000000000000,00000000[0000)(m#0,¢q£0)00 [0
000000l (m=0,¢g#0)00000,000000000000.00,MPMOOOOOOOOODYD

0.047 T T T T

p=3J0/J=0.8 ——

0.0465

0.046

Pb

0.0455

0.045

0.0445 1 1 1 1 1 1 1

0 3l: p=30000 TOOOO. Jo/J=08. T=J%2/2Jo0000000000000.

00000 T=J2%/2J,000 (031)00). 00000 (161)0000000000

p—1 12 2Jo/J? igip&ig&i
PUIIEY = (ﬁ_ﬂﬂ) P({J})Q<J/J>Zil<“.<iph pEir-Eip (176)

gbo s30000



oog oboboogoogo 2005 00/00/CDMAOOOCOOOO #2(00 :00 00)
NP1 J4p!2
P({J}) = exp e Z {(Jil"'ip)2+m} (177)
i1 < <idp
goooooooobo, o000, booooooooooao
_ 2Jo
good
J2
- 2 179
270 (179)
0o0o0odoooobooooooo. oo oooooobooooooooo.
Od0,p00000000OO0O0O0D00O0O0OO0DOOOO00. 00 p=2,3,00,p=1000000000
o0d.03200000000.00000,p0000000000O0DO0O0DOO0ODODOOODODDOOO
05 ‘ ‘ ‘ 0.09
: p=200=08 ——
045 - pglg 309208 b o8 1
04 | g 007 L |
035 | i i
j 0.06 |- 1
03 g
: 0.05 - g
£ 0251 i R g T
: 0.04 g
0.2 4
i 0.03 | p=2J0/3=0.8 —— i
015 : b p=3J0/J=0.8 -------
: p=10J0/J=0.8 --------
01} : | 002 | i
005 oo ] 001 |- ,
Ce s 1 15 2 25 3 35 4 %2 a5 05 0% 08 o6 07 o075 o8
T T
|:|322p:?,B,lODDDDDDDDDDDDDDD.DDDDDDDDDDDDDDDDDD.
00o00D.00,00 Sourlas 0000 p—ood00OO0 P,=0000000000,00000000
000000000000000000O0 (Jb/J)e.=+vlog20OOOODODOOOOO (DODOOODOOO
O0)00oooooooooo. oo, (Jb/J) = (Jh/He=v2r BA00000000000000
00,00000 (J/J)0Oooooooo (164) :
R Jo\? 1
I — s 180
C (J)clogQ (180)
gooooad
R=C (181)
000,000000000000000D0D00000.000,Sourlasd00 p—ooO0O0O0O0O0DOODO

gbobooboooooobooobooon.

ubo s40000



